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Answer All questions.

1. Let the vector equations of two lines /, and /, be given by
r=2+3]-4k+A(1I+2j+k) and r =9/ -3k + p(5i+ 2k) respectively.
a) Find the position vector of the point C where the two lines /, and /, intersect.
The point 4 lies on /, when A =1and the point B lies on /, when ©=2.
b) Find the size of the angle ACB.
¢) Hence or otherwise find the area of the triangle ABC in the form p\/g where

p and g are integers.

E is another point lies on /, when 1> 0.

d) Find the value of Aif the size of the vector AE is 54

a) The position vectors of the three points are p—g, 2p—3g and 5p-Tgq.

Peter says these three points are collinear. Is Peter correct? Justify your

arswer,
b) Let g=i-2j+k, b=-2i+3j+k and ¢=—i+pj—3k wherep is areal
number. Find
i. axband bxc,

ii. thevalue of pif (axb)-(bxc)=108.
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